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A. Put the verbs in brackets into the correct tense:
1. If a company CONDUCTS (conduct)  irresponsible  marketing, customers
 will not buy  their products.
2. Small  companies will go out  of  business  if  their    customers
 DO NOT PAY (not pay) on time.
3. Many customers WILL NOT BUY (not  buy)  products if  companies  
test them on animals.
4. If a multinational company pays ‘first world’ prices for goods from developing countries, those suppliers   WILL BECOME (become) self-sufficient.
5. If a company delays payments, what WILL THE CONSEQUENCES BE (the consequences, be)?
 
/5pts.
B. Complete the text by putting the verbs in brackets into the correct form: gerund, to + infinitive, or infinitive without to:
1. When buying a new product, you expect TO FIND (find) the equipment in working order. 
2. If you delay TAKING (take) the faulty goods back, you will risk LOSING (lose) your rights as a customer. 
3. Make them RETURN (return) all the paperwork you gave them. 
4. We look forward to DOING (do) business with you. 
 
/5 pts.
C. Put the verbs in brackets in the correct tense (present perfect or simple past):
Coca Cola HAS OPERATED (operate) outside the US since 1897. The first time I HAVE HEARD (hear) about it was in my early childhood. I remember, when I was only three, I SAW (see) a bottle of Coca Cola in my local store. I have loved it ever since. Business-wise and especially marketing-wise Coca Cola HAS BEEN (be) the market leader for the past 30 years even though it SUFFERED  (suffer) a huge blow in the Asian countries a few years ago.  
 
/10 pts.
D. Choose the correct expression and fill in the table below. 
1. The new product became the company’s .................................

a) flog horse 

b) cash cow 


c) greased palm 

2. I read a lot of business magazines ...................................................

a) to run the race 
b) to go through the roof 
c) to keep up to date. 

3. She is our best employee, she is a true ..........................................


a) eager beaver 

b) working bee 

c) golden handshake 
4. That salesman is such a smooth talker, he could .............................................


a) sell flour to the Danes b) sell ice to Eskimos 
c) give the green light. 
5. I have been trying to ..................................... all morning.

a) keep up to date 
b) be a dead duck 

c) get through to him. 
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__/ 5 pts
E. Translate the following sentences:
1. Unless an existing contract states otherwise, invoices will have to be settled in 30 days. 
UKOLIKO POSTOJEĆI UGOVOR NE NAVODI DRUGAČIJE, FAKTURE MORAJU BITI PLAĆENE/NAMIRENE U ROKU OD 30 DANA. 
2. An efficient producer can set a low price for goods that other companies find it difficult to compete with. 
 EFIKASAN PROIZVOĐAČ MOŽE ODREDITI NISKE CIJENE ROBE SA KOJIMA DRUGE KOMPANIJE TEŠKO DA MOGU DA SE NADMEĆU/ I OTEŽATI KOMPANIJAMA DA SE NADMEĆU SA TIM CIJENAMA. 
3. Ako naš profit bude opao, dividenda će biti manja.
IF OUR PROFITS DROP, DIVIDENT WILL BE SMALLER. 
4. Ako kompanija ne plati fakturu, kreditor će moći da naplati kamatu.
IF A COMPANY DOES NOT SETTLE AN INVOICE, CREDITORS MAY/WILL BE ABLE TO CHARGE INTEREST. 
5. Ni United Chemicals Group ni Zephyr Cycles nemaju dobre uslove za rad u svojim fabrikama u Evropi.
NEITHER CHEMICAL GROPU NOR ZEPHYR CYCLES HAVE GOOD WORKING CONDITIONS IN THEIR COMPANIES IN EUROPE. 
__/15 pts. 
